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Sample Paper – 2010
Class – XII
Subject – Computer Science (083)

1.

 (a) Observe the program segment given below carefully and fill the blanks marked as Statement1 and Statement2 using seekp( ) and seekg( ) functions for performing the required task.




#include <fstream.h>

class Item

{


int Imno; char Item[20];


public: 


//Function to search and display the content from a particular record number


void Search (int) ; 


//Function to modify the content of a particular record number


void Modify(int);

};

void Item :: Search (int RecNo)

{


fstream File;


File.Open(“STOCK.DAT” , ios :: binary | ios :: in);


File.seekg(0,ios::beg);

--------------------------------------

//statement 1 


Cout <<Ino <<” = = >” << Item << endl;


File.close ( );

}

void Item :: Modify (int RecNo)

{


fstream File;


File.open (“STOCK.DAT”, ios ::binary | ios :: in | ios :: out);




cin>> Ino;


cin.getline(Itm,20 );


File.seekp(RecNo);


-------------------------------------

//Statement 2


File.close ( );







}

(b) Write a function to count and display the average length of word in each line from a text file matter.txt.   
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 (c) Write a function in C++ to search for BookNo from a binary file “BOOK.DAT”, assuming the binary file is contained the objects of the following class:
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class BOOK


{



int Bno; char Title [20];



public : 



int Rbno ( ) { return Bno; }



void Enter ( ) { cin >> Bno; gets (Title); }



void Display ( ) { cout << Bno <<Title <<endl; }


};



2 (a) What are DDL and DML?
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(b) Consider the following tables FACULTY and COURSES. Write SQL commands for the statements (i) to (iv) and give outputs for SQL queries (v) to (viii)


6
FACULTY

	F_ID
	Fname
	Lname
	Hire_date
	Salary

	102
	Amit
	Mishra
	12-10-1998
	12000

	103
	Nitin
	Vyas
	24-12-1994
	8000

	104
	Rakshit
	Soni
	18-5-2001
	14000

	105
	Rashmi
	Malhotra
	11-9-2004
	11000

	106
	Sulekha
	Srivastava
	5-6-2006
	10000

	107
	Niranjan
	Kumar
	26-8-1996
	16000


COURSES

	C_ID
	F_ID
	Cname
	Fees

	C21
	102
	Grid Computing
	40000

	C22
	106
	System Design
	16000

	C23
	104
	Computer Security
	8000

	C24
	106
	Human Biology
	15000

	C25
	102
	Computer Network
	20000

	C26
	105
	Visual Basic
	6000

	C27
	107
	Dreamweaver 4000
	


(i) To display details of those Faculties whose date of joining is before 31-12-2001.

(ii) To display the details of courses whose fees is in the range of 15000 to 50000

(both values included).

(iii) To increase the fees of Dreamweaver course by 500.

(iv) insert new column in a COURSES named Level with String type..

(v) Select COUNT(DISTINCT F_ID) from COURSES;

(vi) Select MIN(Salary) from FACULTY,COURSES where COURSES.F_ID =FACULTY.F_ID;

(vii) Select SUM(Fees) from courses Group By F_ID having count(*) > 1;

(viii) Select Fname, Lname from FACULTY Where Lname like “M%”;
3(a) State Indempotence law and prove it with help of truth table.
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(b) An Insurance company issues a policy to an applicant only when the applicant satisfies at least one of the following conditions:

· The applicant is a married male of age 25 years or above.

· The applicant is a female who never had a car accident.

· The applicant is a married female had has had a car accident.

· The applicant is a male below 25 years.

· The applicant is not below 25 years and has never had a car accident.


INPUTS ARE:


M:- The applicant is married


(1 indicates yes and 0 indicates no)


S:-   The applicant is a male


(1 indicates yes and 0 indicates no)


C:-   The applicant has had a car accident. 
(1 indicates yes and 0 indicates no)


Y:-   The applicant is below 25 years

(1 indicates yes and 0 indicates no)


OUTPUT IS:

I:-    Denotes, Issue the Policy
(1 indicates it is issued and 0 indicates it is not issued)

(a) Draw the truth table for the inputs and outputs given above.Write the SOP expression for I(M, S, C, Y).
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(b) Reduce I(M, S, C, Y) using Karnaugh’s map.Draw the logic gate diagram for the reduce SOP expression for I(M, S, C, Y) using AND & OR gates. You may use gates with two or more inputs. Assume that variable and their complements are available as inputs.     4
4(a) what are Cookies?
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(b) Expand the following terminology – i) PHP   ii) IMAP
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(C) What are the advantages of Ring Topology?
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(d) Explain Freeware and Shareware?
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(e) What is Cyber Crime?






1
(f“Kanganalay Cosmetics” is planning to start their offices in four major cities in Uttar Pradesh to provide cosmetic product support in its retail fields. The company has planned to set up their offices in Lucknow at three different locations and have named them as “Head office”,  “Sales office”, & “Prod office”. The company’s regional offices are located at  Varanasi, Kanpur & Saharanpur. A rough layout of the same is as follows :
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An approximate distance between these offices as per network survey team is as follows:

	Place from
	Place to
	Distance 

	Head office
	Sales office
	15 KM

	Head office
	Prod office
	8 KM

	Head office
	Varanasi Office
	295 KM

	Head office
	Kanpur Office
	195 KM

	Head office
	Saharanpur office
	408 KM



Number of computers :

	Head office
	156

	Sales office
	25

	Prod office
	56

	Varanasi Office
	85

	Kanpur Office
	107

	Saharanpur office
	105


i) Suggest the placement of the repeater with justification.
             1


ii) Name the branch where the server should be installed. Justify your answer.1
iii) Suggest the device to be procured by the company for connecting all the computers within each of its offices out of the following devices:             
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· Modem

· Telephone

· Switch/Hub









      iv) The company is planning to link its head office situated in Lucknow with the office at Saharanpur. Suggest an economic way to connect it; the company is ready to compromise on the speed of connectivity. Justify your answer.
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